



ISSN NO. 2320-5407

Journal homepage: <http://www.journalijar.com>  
Journal DOI: [10.21474/IJAR01](https://doi.org/10.21474/IJAR01)

INTERNATIONAL JOURNAL  
OF ADVANCED RESEARCH

## RESEARCH ARTICLE

## Three Results for Non-Associative Semi Prime Ring with Unity.

B.SRIDEVI<sup>1</sup>, Dr. D.V.RAMI REDDY<sup>2</sup> & G.RAMBUPAL REDDY<sup>3</sup>.

1. Asst. Professor in Mathematics, Ravindra College of Engineering for Women, Kurnool.
2. Professor in Mathematics, K.L University, Vijayawada, Andhra Pradesh, India.
3. Associate Professor in Mathematics, National P.G College, Nandyal, A.P, India.

**Manuscript Info****Manuscript History:**

Received: 18 February 2016  
Final Accepted: 19 March 2016  
Published Online: April 2016

**Abstract**

In this paper we have mainly obtained some theorems related to Non-associative ring with unity.

**Key words:**

Non-associative ring, Ring with unity.

**\*Corresponding Author**

B.SRIDEVI.

Copy Right, IJAR, 2016,. All rights reserved.

**Introduction:-**

Quadri Ashraf (3) generalized Some Results for Associative Rings. They Proved that if R is Non Associative Ring. In which  $(xy)^2 - yx^2y$  is Centre, Then R is Commutative. In this Paper. We show that a non -Associative Ring with unity such that for  $(xy)^2 = (xy^2)x$ ,  $xy^2 = y^2x$  and  $(x, x^3y^3 + x^2y^2) = 0$ . Throughout the paper  $Z(R)$  denotes the centre of non Associative ring R and  $(x,y) = xy - yx$  for all  $x,y$  in R

**Main Results:-**

We prove the following theorems

**Theorem 1:** If R be a Non-associative ring with unity 1 such that for  $(xy)^2 = (xy^2)x$  all  $x,y$  in R, then R is commutative.

**Proof:** Given identity is  $(xy)^2 = (xy^2)x$

Replacing x by x+1 in the given condition,

$$\begin{aligned} [(x+1)y]^2 &= [(x+1)y^2](x+1) \\ (xy+y)^2 &= [(xy^2+y^2)(x+1)] \\ (xy+y)(xy+y) &= [(xy^2)x + xy^2 + y^2x + y^2] \\ (xy)^2 + (xy)y + y(xy) + y^2 &= (xy^2)x + (xy^2)y + y^2x + y^2 \quad (\text{by the condition and cancellation law}) \\ (xy)y + y(xy) &= (xy^2) + y^2x \end{aligned}$$

Replacing y by y+1,  $[x(y+1)](y+1) + (y+1)[x(y+1)] = x(y^2+2y+1) + (y^2+2y+1)x$

We get  $xy = yx$ .  $\forall x,y \in R$  (by the condition and cancellation law)

Hence R is commutative ring.

**Theorem 2:** Let R be a non- associate ring with unity 1 such that  $xy^2 = y^2x$  for all  $x, y$  in R, then R is commutative.

**Proof:** Given identity  $xy^2 = y^2x$ ,

$$\begin{aligned} \text{Replacing } x \text{ by } x+1, & (x+1)^2y^3 = y^3(x+1)^2 \\ (x^2+2x+1)y^3 &= y^3(x^2+2x+1) \\ x^2y^3+2xy^3+y^3 &= y^3x^2+2y^3x+y^3 \end{aligned}$$

$$x y^3 = y^3 x \quad \dots(1)$$

Replacing y by y+1 in the above result,  $x(y+1)^3 = (y+1)^3 x$

$$x(y+1)(y+1)(y+1) = (y+1)(y+1)(y+1)x$$

$$(xy+x)(y^2+2y+1) = (y^2+2y+1)(xy+x)$$

$$xy^3+3xy^2+3xy = y^2xy+y^2x+2yx+2yx+xy, \text{ (by cancellation law) since, } xy^2 = yxy,$$

$$xy^2 = y^2x,$$

$$xy^3 + 2xy = y^2xy + 2yx \quad \dots(2)$$

again replacing y by y+1 in the above result,

$$x(y+1)^3 + 2x(y+1) = (y+1)^2x(y+1) + 2(y+1)x$$

$$x(y+1)(y+1)(y+1) + 2x(y+1) = (y+1)(y+1)x(y+1) + 2(y+1)x$$

$$(xy+x)(y^2+2y+1) + 2(xy+x) = (y^2+2y+1)(xy+x) + (2yx+x)$$

$$xy^3+3xy^2+4xy = y^2xy+4yx + y^2x+2yx, \text{ by cancellation law}$$

$$2xy^2+xy^2+2xy = 2yx + y^2x+2yx \text{ (from result (2) and given condition)}$$

$$2xy^2+2xy = 2yx+2yx, \text{ (by the theorem } xy^2 = yxy)$$

$$2xy = 2yx$$

R is a commutative ring for all x,y.

**Theorem 3:** Let R be a 2- divisible associate with unity 1 such that  $(x, x^3y^3 + x^2y^2) = 0$  x, y in R. Then R is commutative.

**Proof :** let x,y be in R, then  $(x, x^3y^3 + x^2y^2) = 0$

$$\text{That is } (x^3y^3 + x^2y^2)x = x(x^3y^3 + x^2y^2)$$

Replacing y by y+1 in the above condition

$$[x^3(y+1)^3 + x^2(y+1)^2]x = x[x^3(y+1)^3 + x^2(y+1)^2]$$

$$[x^3(y+1)(y+1)^2 + x^2(y^2+2y+1)]x = x[x^3(y+1)(y+1)(y+1) + x^2(y+1)(y+1)]$$

$$5x^3yx + x^3y^2x + 2x^2yx = 5x^4y + x^4y^2 + 2x^3y \text{ (By the theorem } x^n y = x^{n+1}y)$$

$$\text{we get, } x^3y^2x = x^4y$$

Replacing x by x+1,  $(x+1)(x+1)(x+1)y^2(x+1) = (x+1)(x+1)(x+1)(x+1)y^2$

$$(x^2+2x+1)(x+1)(y^2x+y^2) = (x^2+2x+1)(x^2+2x+1)y^2$$

$$3x^2y^2x + 3xy^2x = 3x^3y^2 + 3x^2y^2$$

$$x^2y^2x + xy^2x = x^3y^2 + x^2y^2, \text{ since, } xy^2 = y^2x$$

Replacing x by x+1, ,

$$(x^2+2x+1)(y^2x+y^2) + (xy^2+y^2)(x+1) = (x^2+2x+1)(xy^2+y^2) + (x^2+2x+1)y^2$$

$$2xy^2x + 2y^2x = 2x^2y^2 + 2xy^2$$

$$\text{since, } (xy^2 = y^2x)$$

$$xy^2x = x^2y^2$$

again replacing x by (x+1),  $(x+1)y^2(x+1) = (x+1)^2y^2$

$$(xy^2+y^2)(x+1) = (x^2+2x+1)y^2$$

$$xy^2x + xy^2 + y^2x + y^2 = x^2y^2 + 2xy^2 + y^2$$

$$y^2x = xy^2$$

Replacing y by y+1,  $y^2x + 2yx + x = xy^2 + 2xy + x$

$$xy = yx \quad \forall x, y \in R \text{ (by the condition and cancellation law)}$$

Hence R is a commutative ring for all x, y.

## References:-

1. I.N. Herstein, *Topics in Algebra*, Wiley India (P) Ltd, 2nd Edition 2006.
2. K.V.R. Srinivas and V.V.S. Ramachandram, Invertible and complement elements in a
3. ring, *IJMR* **3** (1) (2011), 53–57.
4. M. Ashraf, M.A. Quadri and D. Zelinsky, Some polynomial identities that imply commutative for rings, *Amer. Math. Monthly* **95** (4) (1988), 336–339.
5. R.N. Gupta, A note on commutativity of rings, *Math. Student* **39** (1971).
6. G. Yuanchun, Some commutativity theorems of rings, *Acta Sci. Natur. Univ. Jilin* **3** (1983)